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Assignment-3
Solve PA+0) =0z,
Solve\/BJr\/a: X+y
Solve pe’ =qe’
(px+ay—z)° =d(1+p*+q°)
2 2
(D?-D,D, -6D?)z=0
(2D?+5D, D, +2D,*)z=0

Solve
Solve

Solve
Solve(D: - Dj —ZDfDi)Z =0

SOIVe(DX3 -6 Dny +11DXD§ —6D3)Z =0
Solve(DX2 _Di)z —Xy

| (D7 +D,%)z =cosmx-cosny
ve

3

X
. Find the complementary function of (X’D;/ +2xy D,D, —xD,)z = F

3
X
Find the particular integral of (x’D/ +2xy D,D,—xD,)z = F

Find the complementary function of (XZDX2 - y2 Dj ) Z=Xy

Find the particular integral of(X2 DX2 - ysz)z =Xy

Solve (D? — 4D + 4)y = e?*
Solve(Dy + 2D, —3)z =0
Find the complete solution of the PDE (p+q)(z-px-gx)=1



